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Part A
Answer any ten questions.

Each question carries 2 marks.

1. Form a matrix
A and B purchased the following from the market
A; 4 kg of sugar, 1 kg of onion and 1 kg of potatoe
B. 2 kg of sugar ,0 kg of potatoe and 5 kg of onion

2.  What is order of a determinant

3’ (13) . (%)
Find6A-38. A= \1 2 5= \1 3

4. 2 3 -4
0 —4 2
Find the value of the determinant. A= 1 _1 5

5. Define Constants

6.  Solve 4x%-12x+9=0 use the metod of completing squares.
7.  Price elasticity of supply

8. Integrate Vx
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9.  What is a dynamic model in input -output analysis
10. Whaen does astatic model becomes dynamic in input-output analysis
11. Mention the uses of LPP

12. What are the advantages of LPP
(10x2=20)
Part B

Answer any six questions.

Each question carries 5 marks.

13. What is an investment function .Explain with example
14. Draw the average cost curves from the average cost function AC=4x+2+20/x

15. Solve the following equations using matrices
2x-3y=6
3x-6y=9

16. Differentiate the following function. Y=(3x+2)(2x-1)

17. Examine the following function for its maxima or minima and determine its value y=2x2-
12x+40

18. What is technological matrix

19. The technological coefficient matrix of two sectors p and q is given below A=

0.1 0.3
0 0.2

of the two sectors.

if the final demands are 10 and 20 respectively find the gross output

20. Explain step by step how a LPP is solved by Simplex Method

21. Find the dual of the following Primal
Max Z = 4x1+2x2

St -Xq-Xp £-3
-X1+Xy 2 -2
Xy,%X, 20
(6x5=30)
Part C

Answer any two questions.
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Each question carries 15 marks.

22. Using Crammer's Rule. 2x-3y+5z=11, 5x+2y-7z=-12 and -4x+3y+z=5
23. Using function f(x,y)=x2+y2-2xy+8x+9y+3 show that (22f/ax dy) = (9%f/3y x)
24. Minimise the utility function U= 4xy -y? subject to a constraint 2x=y-6=0

25. A transister radio company manufactures models A,B,C which have profit contributions of
10,15,20 respectively .The weekly minimum production requirements are 135 for model
A,150 for model B and 45 for model C .Each type requires certain time for manufacturing
components , assembling and packing.Specially a dozen units of model A requires 3
hours for manufacturing ,3 for assembling ,and 1 for packing.The corresponding for B and
C are 3,7,8 .During the forthcoming week the company has available 150 hours of
manufacturing 250 hours for assembling and 100 hours for packing.

Formulate the production schedule using LPP

(2x15=30)
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